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RED SWASTIKA SCHOOL

SCIENCE
2019 SEMESTRAL EXAMINATION 1_
PRIMARY 5
Name : ' _ A )

Class :.Primary 5/

Date :15 May 2019

BOOKLET A
Total time for Booklets A & B: 1h 45 min
Booklet A; 28 questions _(56 marks)
" 1. Do not open the booklet until you are told to do so.

2. Read carefully the instructions given at the beginning '
of each part of the‘_booklet.

3. Do not waste time. If the question is too difficult for you,
go on to the next question.

4, Check your answers thoroughly and make S'me you
attempt every question.

5. In this booklet, you should have the following:
a. Page 1 to Page 20
b. Questions 11to 28
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For Questions 1 to 28, choose the most suitable answer and shade its number
in the OAS provided.

1. Which two of the following statements about Iiving things are true?.

A: Living things reproduce.

B: Living things can make their own food.

C: Living things only need air and water to survive.

D: Living things can respond to changes around them.

(1) AandB
(2) BandC
(3 CandD
(4) AandD

2. Study the two groups of organisms, A and B, below.

Which of the following correctly describes the organisnis in groups' A and B?

A | B

Covered with - Lay eggs Covered with .| Give birth to -
scales - - SR fur young
(1 - No ~ Yes Yes No
(2) Yes Yes ' Yes Yes
(3) “"No No No . No
| Yes No = Yes No
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3.

Study the flow chart below.

)
@)
()

Animal

Question A No

h'4

Fisk.

Yes

Does it lay No
eggs?

Bat

v

Yes

Owl

‘Which one of the following best represents Question A?

(O

Does it fly? _

Does it live in water?

Does it have feathers?

Does it have three body parts?
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4.

Study the diagram below.

!
Pollen grains |

Process A
W

Female flower:.|-

Process B
c D |
develops into ' develops into
a fruit a seed

......... Which one of the following correctly identifies Process A, Process B,
C and D? -

_ Process A Process B c D
) fertilisation pollination - ovary ovule
(@) pollination™ | fertilisation |  ovary ovule
(3) fertilisation pollination ‘ ovule ovéry
4 | --pollinaﬁon. ferti!isatioh p ovule. | ovary
3
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5. The diagram below shows a fruit that is @ispersed by:water,
X Sy

‘Which of the following statements correctly describe how the various partsdielp
the fruit to be dispersed by water?: '

A: X does not allow water to pass through.
B: Yis a fibrous husk which has.air'spaces:
C: Zis thick and juicy.

(1) Aand B only
(2) AandConly-
(3) BandC only
(4) A BandC

6. The diagram below shows a f'_]'ower ;gvith. male and female reproductive parts.

Which of the following correctly identifies part A, B, C and D?

A B Cc D

(1) stigma anther filament style

(2) filament style anther stigma

(3) anther.. filament stigma style

(4) style anther filament stigma
4
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7.  Study the distribution of seeds by plant X.

»
:.
-
ve o*
- L
FD SE
L .
. . - . -
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¥ .. -'.
- x.
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Key
X . parentplant
¢ : seed

—=> @ Wwind direction

.M (2)
2 P
— Sreacy
juicy flesh — -}g@%ﬁ_.
' ) RS OA L
@ (4)
wing-like
_structure. .
S
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Which two of the following characteristics will help identify flowers which are
pollinated by wind?

A: Nectar is present:

B: Stigmas are long and sticky.

C: Petals are brightly coloured,

D: Long filaments with anthers are hanging out of the flowers.

(1) AandB
(2) AandC
(3) BandD
(4) CandD

The diagrams below show the reproductive parts of a plant and a human
respectively. T e ——

- plant reproductive parts - human reproductive parts

Which part of the flower shown has a similar function as part X?

(1 A
{2) B
@) C
4 D
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10.  The diagram below shows a seed 'that grew into a young plant. -
green leaf

seed leaf

seed young plant

Which of the following graphs most likely shows the changes in the mass of
the seed leaf and the green leaf of the seedling over a period of time?

| Key: Seed leaf _
Green leafl == == = = ——

1 A | 2 -

Mass
\
Mass

v

Number of weeks

@

v
v

Number of weeks Number of weeks
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11.  Sally placed the set-up below in a bright place.'

After some time, the water in the glass tube moved. Which dlrectlon did the ‘

light \ original position
\}. ' of water in the

glass tube

water move and what was the reason for the movement'? .....

Dlrection in which the water Rea_s_on_- T
in the glass tube moved : . .
1XU3 i | Wateris takerin by th‘é"plant i S
(2) . Carbon dioxide is taken i inby the
: : plant.
(¥ S : Water is given out by the plant.
(4) _ ity | ,Oxj(g'en is givén out by_the' plant.
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12.  The diagram below shows how blood flows through our body. .

Lungs
N i
A i
V.
Heart
A
D c
v
Other parts of the body

Which one of the following statéments is incorrect?

(1
(2)

(3)

(4)

The blood at A contains less oxygen than the blood at C.
The blood at B contains more oxygen than the blood at D..
The blood at A contains less carbon dioxide than the blood at B

The blood at D contains more ca_rbon dioxide than the blood at C.
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13. Study the flow chart below.

Does ithave acell wall? —No 5[ A
lYes
Does it have chioroplasts? |—NO_s[™ g
Yes
i
C .
Which of the following best represents A, B, and C?
A B C
%)) skin cell - root cell leaf cell
(2) ~ root Cell leaf cell skin cell
(3) leaf cell skin cell root cell
(4) skin cell leaf cell root cell

- 14, George placed a plant in a beaker of blue-coloured water. After _tvvo_-days,'h’e" Sz
cut the stem of the plant. The cross section of the stem is shown below.

Why did tube Y of the stem turn biue?

(1) Ittransports food from the roots to all parts of the plant==

(2) Ittransports water from the roots to all parts of the plant.
(3) Ittransports food from the leaves to all parts of the plant.
(4) Ittransports water from the leaves to all parts of the plant.

10
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16. The diagram shows a seed growing into a young plant. .

16.

= ‘When she closéd the switc

What is the direction in which food and water are being transportediat X?

~ Direction for transport of
. food water
() downwards upwards
(2) downwards downwards
(3) upwards downwargs
(4) upwards - _ ‘upwards

Emi set up a circuitas shown below. . -

R

li—

h, the bulb _fuse::_i. Whét_could she do to prevent the bulb

Add one more switch nearer to the batteries

from fusing? =~ 5

(1) Use fewer batteries :
(2) Remove the swiich from the circuit
(3) Change the direction of the batteries
(4)

11
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17. Study the circuits below.

A

In which of the circuits will the bulb light up?

(1) AandBonly
(2) AandD only
(3) CandD only

(4) ‘A, CandD only

18. Study the classification chart below.

Which of the following correctly represents A and B?'

(1)
(2)
3)
(4)

............ L e _ - B - 7
copper wire drinking straw
- metal spoon .Copper wire
wooden pole __copper wire'
metal spoon drinking straw

12
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19. Yazid set up four electrical circuits, A, B, C and D, as shown in the diagrams below.
All the bulbs, wires and batteries used were similar.

Circuit A Circuit B

i .CIi’cuifC
The bulbs in circuits i _'wqu%d'be. of equal bﬁghtne_sls.__'...
(1) AandBonly
(2) - Aand C only

(3) -BandDonly
(4) A, BandConly

13
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20. Ramesh made a circuit board with four metal clips and a circuit tester as shown
below.

Iy
g |

@ wWe  mly
| i X| = Bz

circuit tester circuit board

He connected the circuit tester to two metal clips at a time and recorded whether
the bulb lighted up. in the table.

Mefal clips connected - | Did the bulb light up?
Wand X : Yes
WandyY No
- WandZ No
XandY No
Xand Z No
- Yand Z ; - Yes

Based on the results, which circuit board did he connect his circuit tester to?

() - 0
xm s - X hz
3 - S @
W b WI/IY
-x/Iz  xm mp
14
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21. Diagram 1 below shows a ring magnet lowered onto a tray of steel pins.
Diagram 2 shows the bottom view of the magnet.

ring magnet

Diagram 1 Diagram 2

Which one of the following most likely sh_ows the number of pins attracted to the
bott_om of the magnet at positions A, B and C? '

w

A _ c

(1) 0 ST o |- . i e
@) 14 0 14
(3) 14 7 0
@7 7 7

15
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22. Germaine wanted to find out if the number of coils of wire around a nail affects the
magnetic strength of the nail.

battery ' battery

iron nail : jron nail

Set-up A | Set-up B

battery battery

uvuuuu.v.u_\ : - uvuuvuuu‘\

aluminium nail iron nail

Set_-up c : . ~ SetupD
Which péir of set—upé should she use for her experiment?

(1) AandB

{2) AandC -~
(3 BandD
(4 CandD

16
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23. Meng Kuan set up three magnets-AB, CD and EF and an iron bar XY as shown in
the arrangement below.

iron
bar

A BiC DI E

Which one of the following arrangements is possible?

1) (2 i
( . iron : o ' gon
bar . ar
/ ClE F D[ A B
D c
Bi &
(3 ' ' @
B Al D C EfC b
F -
iron
bar Py iron A
e B Al ~ bar

17
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24. In the set-up below, A, B, C and D are four rings which pass through a smooth

25.

A _ Cc D
¥ plastic magnet iron
(2) iron magnet- iron
(3) plastic magnet magnet
(4) plastic - iron magnet -

wooden rod. B is a magnet.

wooden rod
A
B — magnet
. _
D
| RS it ey TS

Which of the following is not possible?

Huda placed a cup of hot water on a wooden table.

What could she do to cool down the water faster?

- “(L;I) -~ Wrap the cup with a cloth

(2) Place the cup in a plastic bag
(3) Place a metal spoon in the cup
(4) Cover the top of the cup with a wooden lid

18
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26. Substance R is a solid at 20°C and a gas at 250°C.

21

Which of the following is possible?

Melting point of R (°C) | Boiling Point of R (°C})
1 10 200
(2) - 10 } 300
(3) 30 200
4 30 300

The containers in set-ups A and B below are of the same size and thickness but
made of different materials. The containers were filled with the same volume of ice
and left on a table. '

1 |~ thermometer =~ N
material A - _ material B
ice R
set-up A o setup B

~The temperatdre reading on the thermometer was 0 °C at the start of the
_experiment and the temperature reading was recorded every five minutes in the

table below |
[ Timing (min) 5 10 | 15 | 20
"~ Set-up A 0°C T 0°C___ 4°C ~10°C

Set-upB 0eC - _5 %G 13°C - 20°C

‘Which of the following statement(s) is/are true?.

A Material A is a better conductor of heat than material B.
B Material B will gain heat faster than material A.
C  Material B will lose heat slower than material A. -

(1) Aonly
(2) Bonly
(3) Conly

(4) Aand Conly

19
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28. The set-up below shows light shining on three metal objects X, Y and Z. They are
placed at different distances from the torch.

7

forch T X Yy 7

The diagram below shows the shadow of the objects on the scre_,-eh. - screen

string

(1)

)

)

(4)

END OF BOOKLET A

20
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Answer all the questions in the spaces provided.

28. The diagram below shows a flower.

(a) Identify part Q. (1m)

Parts of flowers X, Y and Z were removed as shown below.

Flower X : Fiower Y

Flower Z.

' (b) Which of the flowers will not be able to develop into a fruit?

Explain your answer. (2m)

21
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30. The diagram below shows the location of the parent plants A and B and their seedlings.

O O A Parent plant A
% O A Seediing A
® O @ ParentplantB
O O Seedling B
O O

' (a) Which seedling, A or B, will grow better? Explain your answer. (2m)

‘Seedling

(by The fruits of plant B are inedible and are dispersed by animals. State one characteristic
of the fruit of plant B that helps it to disperse its seeds. (1m) '

22
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31. The diagram below shows a process that takes place in the human reproductive
system,

,(b)‘ Jane wrote a'statement in her journal about human reproduction. Her teacher told her
that her.statement was incorrect. What should her correct statement be? (1m)

. ‘ lhcorreci statement Correct statamen_t

| The fertilised egg
.| develops in the ovary.

23
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32. Sean conducted an experiment to find out how the number of leaves affect the amount
of water taken in by the plant.

500 mi 300 ml
red-coloured — —red-coloured
water ' - water

Beaker X Beaker Y

(@) What change would Sean observe happening to the leaves of the plants in both
beakers after a few days? Why? (1m) '

-.{b)....Sean’s experiment was not a fair test. Suggest one change to his set-up so that his
experiment would be a fair test. (1m)

24
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33.

@

(o)

(c)

Caela made a model of the human respiratory system as shown below.

C:

D:

to different parts of the human body during’ two activities: resting and jogging. The ‘

.graph below shows the volume of blood supplied to the legs and the small intestine

during the two activities.

' B R

' _ Lo Activities
Volume of blood | ’// ' ot -
supplied per min _ resting .
(cmd) % 77 -
R | / L 74 iogding

legs ~ small
intestine

Using the graph, explain how jogging after a meal affects the absorption of dlgested
food i in the small intestine. (2m)

Describe how oxygen in the Iungs reaches the legs with the help of the cn‘culatory
system. (2m) .

25
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34. Siti observed some animal cells under a microscope before and after she placed the
animal cells in a liquid containing substance Y. Siti recorded her observations of the
cell as shown below.

-\—substance Y

Before . After
(a) Identify the part of the cell that allows substance Y to enter. (1m)

(b) What is the function of the part of the cell mentioned in-(a)}? (1m)

‘CellB
(c) Exbiain how you can tell that they are taken from a plant=(1m)

" (d) Which part of the plant is cell A likely to be taken from?

" Explain your answer. (2m)

26
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35. Hui Min used the set-up shown below to investigate the property of a material.

spring
balance

In her experiment, she used strings made of different materials P, Q and R. She
increased the mass until each strmg broke. Her results are recorded in the table

below.
. -Reading on spring balance
P .. 1 : 200
.Q o - .- %00

(a) Name the _pfopérty of material that Hui Min was investigating. (1m)

(b) Based on her results whnch string, P or Q; is more suitable to be used to tie and ﬂy
a kite? Explam your-answer. (1m)

27
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35. Hui Min replaced object A with string R. She used string Q at part X of the spring
balance as shown in the diagram. The mass of the spring balance is 100g.

string R

spring g §
balance %_, %
X,
string Q

(¢) She then hung a mass to string Q. Will she be able to obtain a reading on the
spring balance if the mass hung was 700g? Why? (2m)
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36. Siti conducted an experiment using the set-up as shown below.

aluminium can

steel nail

[ AN

battery

iron rod —FF————
_ switch

(@) Explain what will happen to _the set-up when 'thg switch is closed. (1m)

(b) Will the expenment still work when the alumlmum can is changed into a plastic
bottle'? Explam why (1 m) :

29
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37. Ericset up a circuit tester as shown in diagram 1 to find out if object A is an electrical
conductor.
di 1
|11

Diagram 1 ®

object A
The bulb in the circuit did not light up.
Eric believed that object A was not the cause of the bulb failing to light up.

(@) Using all or some of the components from the exiéting set-up only, design a circuit
to test Eric’s hypothesis. Draw-your cnrcuut diagram in the box below. Do not add new
components (1 m) :

(b) If the bulb in diagram 1 had lit up, suggest the material used for object A
Explain your answer. (2m)

Material: e

Explanation: B

30
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37. Eric then conducted an experiment using sirﬁi!ar bulbs and batteries with the setf-ups
below in a dark room. The light sensor is used to measure the amount of brightness.
In both set-ups, the light sensor was placed at an equal distance from the bulb.

" white card

light sensor

battery in
holder

SetupP © SetupQ
His resuits are shown in the graph below.

L-ight sensor -

reading = / | T
| Z A » Setup
P Q _

(c) E'xpla_in why the light sensor in set-up Q gave a higher readi-r)g‘: (1m) ‘

38. Mré Lee obsen}ed that magne_z't A ahd_ object C were atfracted as shown below.
magnet A - object C
o |

(@) Suggest a reason why Mrs Lee cannot conclude whether object Cisa magnet or
not a magnet based on the observation. (1m) o ‘

31
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38. Mrs Lee set up the experiment shown using magnets A, B, D and object C. The
results are as shown below.

LLLLLL L LIS S, LLLLLELLLLLL L L L L L L LSS T LSS

(b) Based on the diagram, what can Mrs Lee C'OI"I'_Clllee about object C? (1m)

Using the same set—up as shown in the dlagram Mrs Lee replaced magnet A wzth
another magnet X of the same size.

(c) Suggest a possibie observation that could be made if magnet X was a magnet w:th
a weaker magnetlc strength than magnet A. (1m) -

(d) How should Mrs Lee change the set—up for magnet B and magnet D to allow her to
make an accurate comparison about the magnetlc strength of the two magnets?
(1m}) : @ @ —

32
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38. Mrs Lee set up another experiment as shown below. The bar magnet is repelled by
the electromagnet. A pointer attached to the spring moves when the circuit is closed.

20— spring
ruler ———— =
0—=
0 e o
bar magnet

pointer

Aan

electromagnet ———3=

aana

(e) She noticed that the pointer moved downwards when she used only one battery in
- the set-up. Explain why. (1m) ; : :

33
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38.

@)

(b)

Dylan took some frozen fish balls from the freezer and placed them into a metal pot
containing boiling soup.

boiling handie
soup | — — — —
—1® ©-60-G fish ball
metal pot o flame
SeReR{eH e (o

After two minutes, he. scooped' out the fish balls. He measured the temperature of
the fish balls and found out that the temperature is lower than the temperature of
the soup.

boiling soup? Explain your answer (2m)

Dylan scooped out the cooked fish balls and left :t in a bowl. What will happen fo the '
temperature of the fi sh balls after one hour'? Explam your ‘answer. (1m)

Why does using a metal pot :nstead of a g!ass pot allow the soup to be boiled faster'-’

(1m)

34

www.testpapersfree.com



40.

- (a)

(b)

(©)

(d)

Mrs Kuan designed a system that makes use of a light sensor and a light source to

count the number of people entering the room through a doorway.

. light source

She switched on the system and recorded the data of the llght sensor in the graph '
below.

Light %
Intensity

Y DUV A

.O g = -» Time (min)

gapA gapB

Based. on the graph, how many ‘people have entered the room. in the first two
minutes? (1m) '

Exhléfn how you obtained the answer in (a). (2m) _. -

Suggest a possible reason to explain why gap A is shorter than gap B. (1m)

Mrs Kuan wanted to set up the same system in a kindergarten with students who

are between the heights of 0.8 m to 1.1m. What must she change io the system so
that it will work in the kindergarten? (1m)

END OF BOOKLET B
PLEASE CHECK YOUR ANSWER
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EXAM PAPER 2019

LEVEL s PRIMARY 5
SCHOOL : RED SWASTIKA SCHOOL
SUBJECT : SCIENCE
TERM - SAl
SECTION A
Q1 Q2 Q3 Q4 QS Q6 Q7 Q38 Q9 Q10
4 2 1 2 1 3 2 3 1 2
Q11 Q12 Q13 Q14 Q15 Q16 Q17 Q18 Q19 Q20
1 3 1 2 4 1 2 4 2 1
Q21 Q22 Q23 Q24 | Q25 Q26 Q27 Q28
4 3 2 4 3 3 2 - 3
BOOKLET B
Q29. (a) Ovule
(b)  Flower X. Flower X does not have the female reproductive parts. There di¢ 1o
ovules to develop into seed. There is no ovary to develop into a !'nut
Q30. (a) Seedling B. The seedlings has been dispersed further away from the parent
' plant. They do not need to complete for sunlight, water, space, nutrients.
(b)  They have hooks / stiff hair / bristles (which clings onto the animals).
Q31. (a) The process shown above is fertilization where the male reproductive cell
(sperm) fuses fuses Wlth the female reproductive cell (egg)
(b) The fertilized egg develops in the womb -
Q32. (a) ™.~ leaves would turn red. The roots take in the red-coloured water and the
s er—cagﬂ g tube transports it to the leaves and other parts of the plant. -
(b) ___-_egse the amount of water in Y to 500 ml. '
Q33. (a) C: Windpipe
D: Lungs
(b) During jogging, more blood goes to the leg and less blood goes to the small
Intestine. Less digested food is absorbed by the blood in the small intestine.
(c) Oxygen is absorbed by the blood in the lungs. The blood (in the circulatory

System) transports the oxygen to the legs.

1
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Q34.

Q35.

Q36.

Q37.

Q38.

(2)
(b)
(c)
(d)

(a)

(b)

(c)

(b)

(a)

(b)

(c)

(b)
(c)
(d)
(e)

- Cell membrane

Cell membrane controls the movement of substances in and out of the cell.
Both cells have a cell wall and only plant cell have a cell wall.

Cell A is likely to be taken from the leaves. It has chloroplasts, which is
Usually found in the cell in the leaves as they contain chlorophyll needed to
Trap light to make food for the plant. .

Strength

Q is more suitable as Q is-stronger than P which allows it to withstand the
Strong wind without snapping.

No. R was weaker than Q. When a 700g mass is used, the total mass of the
Spring balance and the mass is 800g. String R will break before the spring

~ balance can obtain a reading for string Q.

Electric current will flow in the closed circuit. The iron rod will be
magnetized and the steel nail will be attracted towards it. -
No. As the plastic bottle is an electrical msulator and electric current will

e

" not pass through it.

The iron rod will not be magﬁetizéd.

tenal* Metal

slanation: Metal a]lows electnc:ty to ﬂow t.hrough to form a closed

- circuit to light up the bulb. -

Light is reflected from the white card in set—up Q.

Object C is attracted to magnet A. No repulsion is observed between C and
A to conclude that C is a magnet.

Object C is a magnet. _
Magnet X attracts less pins than A.

" Hang magnet B and D from the same height.

When one battery is used, there is less electricity, the magnetic strength of
the electromagnet decreases. Hence, the bar magnet will repel a shorter

distance away as compared to when two batteries were used.
2
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Q39.

Q40.

(a)

(b)

(c)

(a)
(b)

(<)

(d)

- Dylan could place the fish balls back into the soup for a longer time.

This will allow the fish balls to gain heat from the hot soup until they reach
The same temperature. _

The temperature of the fish ball will decrease: The fish ball will loose heat
to the surrounding (until it reaches room temperature).

Metal is a better conductor of heat than glass and conducts heat more
quickly to the soup.

Three people.

When a person walked through the doorway, the person blocks the light
from the light source from reaching the light sensor, resulting in the light
intensity reading dropping to zero unit.

' Next, we can count and know that there are three gaps where the light

Intensity is at O units.
The person who entered at gap A walked faster than the person who entered

at gap B.
Shift both the light sensor and light source to a height of 0.8m or lower.

3
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